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(1) FEURTYEHA 100 Afard 997 oTdn, Sheant e ot fofevara qean FRoargel a1 gegasd o=

we-sais ‘

(2) 3G Tl -SRI AR N ma’;ﬁ
5 foraan sreua fomm. FE Hehaan

(3) T BTuee AR shish greal SaealrRat fafere sl sefEeate e 7 faavar g Fua.

@) (1) o1 JTT TR e FeE WeTe ¢ TatH IR GAfae SR @ 1, 2, 3 30 4 78 i fEee s,

SRR A SAGHHIS TE FH1 a1 Gaiu WeThHhH ST e o SSes aret Fiest w4T=),
T {AT TRy ThTed YIS Sio araus, ¥fe ar s O ange =4

(9) I AT fasaraTst Bet SeT gus qreas fafu Foxs ol = fasam= Weles wos we! sisn
LIER R

(5) TS T WA U ST, A T Wy It A, S g SR AT AT Sa See v fae
A WY WIeaiad. A W Sisiet IR S IO TETET Wy SHolul aeedTd ®al 9% 3 Qraad 32
TR HigEh SUe.

(6) ST Tohel g S I IS AU AR, G shoses SR Wi V=g I faeard Q qurees S .

(7) WA TR IR T Hedl e s all SHGaTTeAT STRUTAh 11 alvd a0 1T i 9rdie. |,
T FATAT TS TETHTE e WY S oo S St watd a9 Seuieh
TS HE.  F-AUT AT ITUlAhd WSl Tl TR Febieal IANHIGT TahT Yy=Te UT o)

T yr TR arel amrarma fafkm ot Jw wivda & wvafeenr amanTel W A @t

o/ wdt, fHar aey Ty e FTE 39T RIS TWEuTd Tedsl a7 ATeIsrat
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TASTARN TR YAt AT AR EHATS A 930 § 3Nt saadl s TF

quieal SHRIETRreAT N7/ fHar T U §X TeRiear 2= 18 ure 2w
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A 3 H11

1. 'WHEES AP (AR) S96 Aeded goie fqum e e
(a) TEIE A 1 TS 2016 USf g TRAT @] F91 o7
(b) A AATAR A et s7IfYr T T T 8,000 faw @ <.

(c) et Afew oftr wEr i IRE WEER @R SR GURT € SEie O AN 3R
3.

Wi"‘-ﬁ EFI:!' :
1) faum (a), (b), (c) FET 3mRA @) faum ), (o) R 4
(3) FEes TaUM (a) ST 3R (4) Fae faue (o) U IR

Consider the following statements about the ‘Pradhan Mantri Matritva (Matru) Vandana
Yojana“ :

(a) This scheme was launched by the Central Government on April 1, 2016.

(b) Under the Scheme government would provide ¥ 8,000 financial aid to pregnant and
lactating mothers.

(c) It also aims at improving the health of pregnant women and lactating mothers
through cash incentives.

Answer options :
(1) Statements (a), (b), (c) are correct (2) Statements (b), (c) are correct

(3) Only statement (a) is correct {4) Only statement (c) is correct
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2. Fc: Hiufore $57’ (The Coalition Years) 91 T e S0 37184 ?
(1) W s (2) . fRa
(3) = e (1) e fome
Wha is the author of the book ‘The Coalition Years’ ?

(1) Pranab Mukherjee (2) P. Chidambaram

(3) Dr. Manmohan Singh (4) Kapil Sibbal

3. 2018 51 s e, 320 T wd=n Weorden foemmed waed s @ waifus Son
FEG A, A BV TN FIRTG o ?

(1) T ey, (2) T s 4o

(3) 9 g fay (4) HoHE TR TISH

Jaydev Unadkat emerged as the most expensive Indian Player in 2018 IPL auction. He is

signed by .
(1) Rajasthan Royals (2) Kings XI Punjab
(3) Chennai Super Kings (4) Kolkata Knight Riders

ol SRS A /SPACE FOR ROUGH WORK
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4. VRN VIEATEI, A< Bl STEIH hedeht A=l A el S uTer S1vares U THars S

<vgT 3 ?
(1) 2. T 9 (2) o heie sl
(3) &l sefE fedaes (4) Si. 3TN HEA

Who among the following is the recipient of the award for research on language in the
name of Dr. Ashok Kelkar, given by the government of Maharashtra ?

(1) Dr. Rangnath Pathare (2) Dr. Milind Joshi

{3) Dr. Avinash Biniwale "~ {4) Dr. Ashok Kamat

5. YRd WIS THed Haredren fafay Termritwt g2 fedem qersmri=n wataiit g wiE
FHIOT T | T 2

(1) wEE - yfag deddsien 39 sifgshia 7356 3137 fao,

(2) €I - AT aRE! AU e S S0 esiad gea,
(3) TIhSIE® 3feAT 2.0 - WA FHeA1 fasr 5240,
(4) udes it 3 fafwersh gfaur - aemee anftn garEEt w49 gean.

Following are the different initiatives by Tourism Ministry, Government of India. Which
of them is incorrectly stated ?

(1) PRASAD - {ree food distribution to visitors at renowned pilgrimage sites.
{2) HRIDAY - preserve, revitalized India’s heritage cities.
(3) Incredible India 2.0 - to promote tourism in India.

{4) e - ticketing at Tourist sites - started at Taj mahal and Humayun Tomb.
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o WARTER T HaH [Eete S fayn we o ?
(a) I IET 3TN T FAGAEN e 9.
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(b) TR SN SH ST A Bld T 91 fegera fas (swi=e) snfn g8 91 9y

faz (faasm).
(c) &1 ABHIS Wehld/ T ekt U TEIS.

(d) ITIHE 91 ALETS T WA HITATE Haed/ e W v .

it 39T
(1) (@), (), (), (d) (2)  (a), (b), (9)
(3) (b (9 (4) (a), (b)

Which of the following statements about Kailash Mansarovar Yatra are true ?

(a) It has been organised by Ministry of External Affairs.

(b) It has been organised through two different routes Lipulekh Pass (Uttarakhand)

and Nathula Pass (Sikkim).

(c) Foreign Nationals are not ehgible to apply for this yatra.

(d) Ministry of External Affairs does not provide any subsidy/financial assistance to

Yatris.
Answer options :
(1) @ (), (), (d) (2) (@), (b). ()
(3 ®)© 4) (a), (b)

ATt - 5 dSfs U] SeayrET &amer fadl oTe ?

(1) 5,000 - 5,500 f&.H. (2) 3,500 f&HY,
(3) 7,500 T (4) 10,000 f&. .
What is the range of Agni - 5 ballistic missile ?

(1) 5,000 - 5,500 km (2) 3,500 km

(3) 7,500 km (4) 10,000 km

T HIATATE I /SPACE FOR ROUGH WORK
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8. '#MeToo' ¥ Hivre fuiareiie aafar st Heifuw o ?
1) SfiTF IR 0 5o
(2) WY, AR RY TAUSIER YRt
(3) e faERmEite safem oifed [ER 13
(4) TaER AhER
- ‘#MeTo0’ campaign on social media is related with
(1) sexual harassment and assauit
(2) depression, sucide like psychological issues
(3) privacy issues at social media
(4) voter campaign

9. =
M/ I THT
(a) e AT (i) I s g
(o) o (H) TGS
(c) T (i) A A
(d) FTE (iv) e GRigs o i #g
Tt 39

@ () {9 (d
1) @) (v) @ ()
(2) @) v) (@) G
3 O Gv) (@ ()
4 @ (@@ @H Gv)
Match the following :

Village/ City Project
(a) Pawani Tahsil

—
i =

Nagzira Tiger Project

(b) Chichpalli (i) Gosikhurd
(c) Navegaon (iti) Mazi Metro
(d) Nagpur (ivy Bamboo Research and Training Centre

Answer options :

@@ () () (d
) @ v @ (@)
@ @ G @) 6
G 0 vy @) (i)
4) @ (@ (@) ()
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10. HEWS T4 Higd A= ¥ Hgcard w1 age.
{a) TSAEIS TR GEHFIT=0 WA qodHeT 00
(b) dfaurr=n FT=% 38, 39, 39-A aﬂﬁT 42 e A oS Treve o simern s
(c) T faurew § wenfs W dennde afeet=n fargvm T
(d) FhST= R
it I

(1) ™ (a) (2)  (a) ST (b) (3)  (b) =7 (c) (4) ¥ (d)
The main function of Maharashtra State Comunission for women is
(a) To evaluate the progress of the women empowerment in the state

(b) To implement the Directive Principles of the Constitution mentioned in the article
38, 39, 39-A and 42

{¢) To conduct the elections of the women for the state legislative assembly as well as
local self Government

{d) None of the above

Answer options :

(1)  Only {a) (2)  (a) and (b) (3) (b) and (c) (4)  Only (d)

11.  1e) Sgael 9t G oot faur Ssfavmt ufed wredta wfeer Svaren A Jea fiefe.
I AES A Fers o Iefae ?

1) fm-21sm (2) fm-smEE 3y ged (4) 9-57

Avani Chaturvedi has become the first Indian woman to fly a fighter jet solo. Which
atrcraft did she fly ?

(1) Mig-21Bison (2) Mig-27Bison (3) Sukhoi 4) Su-57

THoAT HIWMETS I /SPACE FOR ROUGH WORK
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12. mmmmmmmwm@wmm

F VAT KRN Qe Y& FHt 3R ?
(1) o e Tmg G (2) TR T A
(3)  WemHS FAF A @) e N e

Which Yojana has been launched by central government for providing Physical Aids and
Assisted - living Devices to Senior Citizens belonging to below poverty line category ?

{1) Deen Dayal Vayoshri Yojana (2) Rashtriya Vayoshri Yojana
(3) Pradhanmantri Vayoshri Yojana (4) Atal Vayoshri Yojana

13. ‘= uce dou’ A1 U AEaeIaR G § e qaitys A6 weren i e 15 7l
MR, a3 AT HIRAT Yol FHHIE K 7

(1) i ) A (3) W @) T

According to a report by ‘New world wealth’, Mumbai is among the top 15 richest cities
in the world. Which city follows Mumbai in this report ?

(1) Chicago (2) Toranto (3)  Frankfurt (4) Shanghai

14.  iv T et fean snfvr astia drosion sheamiaial a6, 6., e e ges
& IR ?

(1) aSmw (2) B (3) =i (4) A

Which state has launched KCR Kit Scheme for the welfare of pregnant women and new
born babies in the states ?

(1) Telangana {2) Kerala (3) Haryana (4) Assam

15. Tohexra PR Wadedr Rt Fwel SRl i g S0 Sy A S ?
(1) vma (2) e (3) wieRy @) TEmirEE

Human Rights activist, Asma Jehangir recently Passed away, she was a citizen of

(1) India (2) Pakistan (3) Bangladesh (4) Afghanistan

THedAl HRINEG AP /SPACE FOR ROUGH WORK PTO
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16.  wems e ofieg @ = witdl AfufEm 1961 TOR @ee IRe Sear o -

(a) Toea wfwg siarfa fafay wften g == (i) HIH-095
(b) TRfawE A= T (i) %W -78
(c) WO GiHG UM 9 II-TWE] A SUER F w (i) wom-97
(d) qor wRER et @ sfrwr T w1 (iv) Fo9-76
it I

(a) (b) () (&)
G ) O @ G
(2) (W G @) ()
@ O (v @) @)
4) (W) (@) @@ @)

According to Maharashtra Zilla Parishad and Panchayat Samiti Act, 1961. Match the
following pairs :

(a) Various Committees and Structure in Zilla Parishad (i) Article - 95
(b) Appointment of Block Development Officer (i) Article - 78

(¢) Powers and Functions of Panchayat Samiti President  (iii) Article - 97
and Vice President

(d) Powers and Functions of Chief Executive Officers (iv) Article - 76
Answer options :
@@ () (g (@
1)y Gv) G @) (i)
(2) @) @) @) 06
(3 @ (v @) (i)
(4) (@) @) @ @)

HeAl RIS R /SPACE FOR ROUGH WORK
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17. wdeis won faeg aadl gE vmfas % A9 ?
(a) fas
by faaw auftn wevRE, 39F
(c)  FSTH i wTy A TiEm SR T
(d) IR TEA
qgrdr 39T
1 () @ @FC@©Q G @O ¢ T
Which of the following subjects are included in the concurrent list ?
(a) Electricty
(b) Marriage and Divorce, adoption
{c) Weights and measures and establishment of its standards
(d) Trade Union
Answer options :
1)y (a) (2) ({(a) and (¢} (3) (a), (b)and (d) (4} Al of above

18. eSS 3T faum W ,
(a) TTTEETE MR R § Auiie g s
(b) T AR F W SiHa w FH,
{c) T M I WHATAS Sgaed aHiRe oY 59 gisavaraE sfben
IUAUES HHH TN ASS AT,
(d) 0 SRR weE 1990 96t e,
qaie Fhy _
(1) {a) (). () 2 (b (d) 3 (@ (4} () ©

Find out the incorrect statements :
{a) National Commission for Backward Classes is statatory body.
(v} It works under Home Ministry.

{c) NCBC is not yet been empowered to look into the grievances of persons of other
Backward classes.

(d) It was established in year 1990.

Answer options :

(1) (a) (b}, {0) 2} (b} (d) 3) (o (d) 4) ).

FoEMT FTUIRTS W /SPACE FOR ROUGH WORK PT
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19, G faud foanm wn ;. (59 e Seuld)

(a) T ECUR TSR FH A T AT I IR TR T FIBST USTre
I rEredr stafte =i Jnva s .

(by  Siam Yy e safaite S arers SRNEET! Ay TR st
YT @ YT IR T FE W TE oo TR S =g WWR =y e
HE YL

(cy rfaftem —aramediyr v e Wy ety 3 S 65 5N qof SeIrat @ TeRE U
e T,

Tite fauraiiet s/ faum/3 atEr oR/q 2

(1) (a) Ha (2} (o v (3)  (a) ST (1) (4) ), (b) 3O (c)
Constder the following statements : (with referenice to High Court)

(a) The President has the power to appoint an additional judge for a temporary period
of not exceeding two years for the clearance of the arrears of the work in a High
Court.

{b) The President can appoint an acting judge when a permanent judge of the High
Court {other than a Chief Justice) is temporarily absent or unable to perform his
duties.

{c) Neither an additional nor acting judge can hold office beyond the age of 65 years.

Which of the statements given above is/are correct ?

(1} {a) only {2) {c)only (3) (a)and (b) (4) (a), (b} and ()

ST SRS W /SPACE FOR ROUGH WORK
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20, WO FORH RO " ot 3§ Afieafa wRAE [RTRT - 19 (1)(a)) ToEt S
HTe3 Ve ?

(@) AERITEl IEHH
~. (b) STEIEEIHE GEW
() wRwieh firgar day
(d) VRN ST 9 e

(e) Fw=a Hy Faan

w3y
1) (), (), () (e) 2 ) ©) @
3) (@), (), @), () (@) alowd

The state can impose reasonable restrictions on the freedom of speech and expression
[Article - 19 (1}{(a)] on which of the following grounds ?

(@) Contempt of court

{b) Protection of minorities

{c} Friendly relations with foreign states
(d) Sovereignty and integrity of India
(e) becency or morality

Answer options :

() (@) @), (), (e) () () @), d)

(3) (a), (C)r (d)r (e) (4) All above

TRl FATETSE AR /SPACE FOR ROUGH WORK PT.O
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21, W fafiriseamed @Elets! HIvW faum g o7 7
1) fofuresomy wofan smee fatems ayrreid 3 gard] srear oy T 29 e,
(2) four tfieRa gfEm e = fadas fourm o5 393 7899 ¥ faurmds farsl o

AT TE, B TR
() = fadres fauraya v oo far fayrayssa g 2 faam ofrwm woitm side -
3 fadaw frumady foudh o sma w e -
(4) O THET AT

Which one cf the following statements regarding Maharashtra Legislature is incorrect 7

(1) A bill pending in the legislature is not lapscd by reason of prorogation of the houses.

(2)  Abill pending in the Legislative council which has not been passed by the Legislative
Assembly is not lapsed on a dissolution of the Assembly.

(3) A bill pending in the Legislative Assembly or which, having been passed by the
Legislative Assembly is pending in the council is lapsed on a dissolution of the
Assembly.

(4) None of these

22, g TEfUHR I SO 9T S [

(a) S i) 1962
vy I (i) 1994
(c) ofegfen (i) 1931
(&) oftro s (iv) 1955
it 39T :

(@ (b |
hH O Gv) @) @
(2 @) @vy (@) (i)
3 (v @ @ (i)
(4} @ (i) @ ()

Match the pairs of Aduit Franchise obtained countries :

o ()

(a) Sri Lanka ) 1962
(b) Malaysia (iiy 1994
(¢} Australia (i) 1931

(1) South Africa (iv) 1955
Answer options :
(a) (b) (o) (d)
(1) @ Gv) @) (@)
@ @) vy 0 6
@ vy @ @ 3G
@) @ @ d) @)

ol RIATETS |1 /SPACE FOR ROUGH WORK
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23, YEISIRT T SISt/ SrSw v
TG AT
(@) 343 - et Aferpa W
(b) 345 . eiea ERd S I TR, FEs faead 3.0 widh STovar! Jm
) (c) 348 - TREUSTEr ST WTl/ 3 Tl
(@ 351 . & e fawmms W
At
O @ OO @ @ ©)© @) () () @ ®
Find the incorrectly matched pair/s :
Article Provision
{a) 343 - Official language of the Union
(b) 345 - Language to be used in Supreme Court and High Court and for
Acts, Bills etc.
(c) 348 - Official language/languages of a state
{d) 351 - Directive for development of the Hindi language

Answer options :

1) (@ b) @D @) ®) Q) @) (@, @ 4 ([

24, WEWR §7 e afhd dsiid wiede faur oum =
(a) 1 Sfgi e anfn veer=ar fegi=t Tea Stfavaren sifysr T sraATen o,
(b) T TR R T, T I 3707 3o’ wei wfafiye Soarel O e W SF

EET _
Fwls! S faum/ 3 gare e ?
(1) ™ (a) (2) TP (b}
(3 = () ot whd T

Consider the following statements regarding the Metropolitan Planning Committee :

(a) The composition and the manner of election of members of such committees are
decided by State Government.

(b) The State Government may make provision about the representation in such
committees of the Central Government, State Government and other organisations.

Which of the above statements is/are incorrect ?
(1) Only (a) (2) Cnly (b)
(3) Both (4) None of the above

AT HIMES JFT /SPACE FOR ROUGH WORK PT.O
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25, WS@IRT RN TR SR THRIAS] D= I TEe 3R 2

1) fER (2) offewm (3) g (4) S WM

In which of the following states, seats are reserved for Scheduled Tribes in the Lok

Sabha ?

{1) Bihar (2) Odisha (3) Tamil Nadu (4) Uttar Pradesh
26. HTOITHH TEA1 T

(a) A TS uftve b) TEE S

(c) TiYt-rafd R (d) g Fare

gt 39

(1) @ (©. (d), (b) (2) (). (0), (d), (@)

(3) (), (. (a), (d) (4) (b, (@), (c), (d)

Arrange the following in chronological order :
(a) 1" Round Table Conference (b) Nehru Report

(¢) Gandhi - Irwin Pact (d) Communal Award
Answer options :

1) @) (. (d). (b) (2 ®)(
G) () () @) @) 4) ()@

C

), (d), (a)
a), {¢), (d)

27. 3.9, 1857 SN IEH SSHT 9% Bl iy e RIArite qeiadel i fosm fmit 52

I Bt ?
(a) M b W © ¥ (d) Tl
qgidr 39 ¢

(1) (a) 3nfor (b) w0 (2) () e (o) v

(3)  (c) anfer (d) wF 4)  (a), (), (d) w1

The Holkars were neutral during the Revolt of 1857, yet their soldiers revolted at which of
the following places ?

(a) Bhopal (p) Mahu () Indore (d) Mahidasi
Answer options :

{1) (a) and (b) only (2) (b)and (c) only

(3) (c) and (d) only ) (@), (), (d) only

oAl SHIAMATS AN /SPACE FOR ROUGH WORK
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28. 3.9, 1920 Wl RATET YT TG HETE WU _ AT A FIOAE 3T,

(1) wefaa Ay 2) W faeam W

(3) fggd e (4) WIS FHRE

In 1920 AD. _____ was appointed as the first High Commissioner of India.

(1) Edwin Montague (2)  Sir William Meyer

(3) Sidney Rowlatt (4) Lord Chelmsford

(1) UsHEs () HfRmER (3) MR (4) He

The farmers from1 which district of Bengal had established an organization of Farmers in
1873 ?

(1) Rajmahal (2) Murshidabad (3) Bhagalpur (4} Pabna

30. "' 3TEA U § RN YTUH YRS GEEd 9 waaEl Ieae g ?

(1) e (2) TEER (3) R (4) feowsh
Operation Polo was undertaken to merge which of the following states in Indian Union ?
(1) Junagadh (2) Hydrabad (3) Kashmir (4) Limdi

(a) forenedi (b) Y (c) HIET

TG I

(1) 37=E 2) TEHg fad

@) Tt (@) WSt

Who had started the following periodicals ?

(a) Vidyarthi  (b) Congress (c) Sadhana
Answer options :

(1) Acharya Atre {2) Ramananda Tirtha
(3) Hirve Guruji (4) Sane Guruji
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32.

ST S ¢
(a) TaFay
(b) R
(c) TmHT
(d) sfwrE
Taiat Iat
(a) (b)
1) (i )
(2) (i) (i)
@) () (i)
4) G ()

Match the following :

(a)
(b)
(©)
(d)

(iv)

Kichakvadh

Swadeshi

Vang Bhang

Bhimrao

Answer options :

(1)

(2
(i)
i)
i)

i)

(b}
(1)

{iv)
(i)

(1)

{c)

{iv)

GET IT ON
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(i) TS TEETH WS
(i) FONST FITHRT WfeTHhL

(iv) TRIY TE S

(d)
(iv)
(i)
(iv)
(i)

(i) Ganesh Ballal Fansalkar
{f)  Vasudeo Purushottam Sathe
(iii) Krishnaji Prabhakar Khadilkar

(iv) Laxman Narayan Joshi

(1)
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33, WO TR T HeWl Hig F¥9 &4 g 5 g 2

(@) HNd T (b) = fayEm

© & fee (d) TITS, &

i I

1) (@) & (2)  (a) 3nfoT (b) T

3) (@) (b) 3T () #) (@, b) (9, (d)

Which of the following honours were Conferred on Maharshi Dhondo Keshav Karve ?
(a) Bharat Ratma (b) Padma Vibhushan

(c) D.Litt. (d LL.D.

Answer options :

(1) {(a) only (2) (a) and {b) only
(3) () (b) and (c) only 4) (@), ®b), (). (&
34, TG TS URORE! TG afr A YA A

(1 muanawmﬁw—rmg‘uﬁ
@) < i st emeT S

(3) TG HoEHl S M TS
(4) WUE TS A AHRT AW

The Kolhapur Praja Parishad was established by the efforts of and

(1) Madhavrao Bagal and Ratnappa Kumbhar
(2) Damodar Bhide and Damodar Joshi
(3) Hanmant Kulkarni and Gangadharrao Deshpande

(4) Khanderao Bagal and Damodar Joshi
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35. FOTS YW WE@HE g e e,
1y =T fzas 2) TF. TES
(3) T, T @) T T
Krishnaji Prabhakar Khadilkar became a follower of -
(1) B.G. Tilak (2) G.XK. Gokhale
(3) MK Gandhi (4) G.H. Deshmukh
36. foaoramen serem onft fivmd il o . T e,
(1) 2 gHTHE (2) wHEEATE 9 faar
(3) eI (4) ud faa=m
The discussion between Vishnubaba Brahmachari and the Missionaries is found in the
book _ o
(1) Vedoktadharma prakash (2} ‘Samudra Kinaricha Vad Vivad’
(3) Arunoday (#¢) Dharma Vivechan

37. UL Figw e Heay =HAvER ¥ A TS Fire A Tovg 3R gifet 6@
IO ?
(a)  HTHTISTER HEHT/ QO
(b) T wEA
() oHFRAE
(d) UHEYEH T 9 @
gt I
(1) (a) 3 () ®F (2)  (b) 3nfYT (d) Ferd
(3)  (a) ST (d) I @) (), () 3T () B
Yomeshchandra Banarjee, the first President of the National Congress stated the objectives
for the establishment of the National Congress, which were they ?
(a) Social Equality/ Uniformity
{b) National Feeling
{c) Secularism
(d) Development of sense of unity and consolidation of the same
Answer options :
(1) (a) and (c) only (2} {b)and (d) only
(3) (a) and (d) only {(4) (a), (b) and {c) only

ol ShRTHTEIS 9T /SPACE FOR ROUGH WORK
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38. Fowca@ YU FrE TUMGHT ST FHUR FIAT T 7

(1) 1773 = Tgofn =

(3) 1793 = WGl FU

(2)
4)

1784 =1 foem sfewm

1813 = 81 FEal

By which law was the Supreme Court of Calcutta established ?

(3) 1793's Legislative Act

(1) 177¥s Regulating Act

(2)
(4)

39, WHSIH! HIVE SN SET R ?
TRERE TTewede 3 sfean

W fe Wieifeam T fafew 37 Sfear 1885 - 89
fafew aidt 3 sfean

Which of the following pairs is correct ?

(1) == -
(2) TE. U
@) e e -
() Teveme fa= -

(1) Bagachi -
(2) S. Gopal -
(3)  Anil Seal -
(4) Hiralal Sinha -

1784's Pits India Act
1813’s Legislative Act

Private Investment in India

Emergency of Indian Nationalism

Problems and Politics of British in India 1885 - 89

British Policy in India

40. ‘9 SHaR’ & giwe v fofed ?

(1) “FE3ER 39N
(3) THwERE faeis

@
(4)

Who wrote the Booklet “Bandi Jiven” ?

(1) Chandrashekhar Azad (2)

(3) Ramprasad Bismil

(4)

et s ™
ez o=ne

Rasbihari Bose

Sachindranath Sanyal
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41, WRE THU Hhiiew & fhdh AR ?

(1) 200.60 @& BFX (2) 207.60 & BFRI
(3) 307.70 1@ B (4) 318.60 T@ THX
What is total Geographical area of Maharashtra ? —
(1) 200.60 Lakh hectare (2) 207.60 Lakh hectare
(3) 307.70 Lakh hectare (4) 318.60 Lakh hectare
42, HIF TS A3 d HHH AFR TR for. . 7 4t 70,
(1) 513 (2) 213 (3) 102 (4} 302
Because of Kokan Railway the distance between Mumbai to Kochin is reduced by
km.
(1) 513 (2) 213 (3 102 (4) 302

43, WOGIH! HOE TE Terad GrE 9r g 2
(1) ¥om (2) w=u (3) HisE (4) W

Which of the following river is not a part of Godavari basin ?

(1) Terna (2) Pravara (3) Manjra {4) Bhatsa
a4, TR TS THE et 3.
1) wigeA (2) = (3) wiedt (4) FhetEw T

is major port of Gujarat State.

(1) Kandla (2) Kochi (3) Mandvi (4) None of the above
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45, wyfaes o frege g A1 il i SO AR

(1) Hsiar Bt (2) ) ooRt

(3) fadesaia ot (O

is recorded in world heritage site.
(1) Ajanta caves (?) Karle caves

(3) Pitalkhora caves (4) Bedsa caves

46. BOGIH! B ToI@ Jord fH= S a1 ?
(1) Y w (2) WeRrE
(3) TE W (4) W@
Which of the following states has high tank irrigation ?

(1) Andhra Pradesh (2) Maharashtra

{3) Madhya Pradesh (4) Gujarat

47. g, SR, siiee a1 STgfaw S Soeta! IR Sl fee sreeT 2

(1) = (2) To=mn () 42 (4) =

Gomit, Pardhi, Bhill these Scheduled tribes are mainly found in which of the following
district ?

(1) Akola (2) Buldhana (3) Dhule (4) Thane
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48. 2011 & SHVATER AIYfEd A owden wemen . feewa waifusw s,
(e (2)  eETER () ™ (4) HoTR
As per consus 2011 _____ __ district has highest population of schedule cast in
Maharashtra.
(1) Nasik (2) Aurangabad (3) Pune (4) Solapur

(1) 1950 - 1955 (2) 1941 - 1946 (3) 1951 - 1956 (4) 1961 - 1966
Indias First Five Year Plan

(1) 1950 - 1955 (2) 1941 - 1946 (3) 1951 - 1956 (4) 1961 - 1966

50, RN WE Jeiayre® FI0d ?

(1) @I e (2) wTel TEd
(3) Troff v (4) IFH Had
What is the main water divider of Maharashtra ?
(1} Sahyadri Mountain (2) Satpuda Mountain
{(3) Nilgiri Mountain (4) Aravali Mountain
51. TERIMIS qfga STIWET _ BIEIEEE C [
(1) W 2y ¥4 ) vt 4) o=

The first nuclear reactor in Maharashtra is known as

(1) Cyrus (2) Dhruva (3) Purnima (4) Apsara
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52. Sired @@
foear Rt
(a) TieE @
(b) S (i)  WrRTEA
() Fo=m (i) TGS
(d) I&uHIS (iv) HAHYT
gidt 3T
@ oy (g (@
O @ @ 0
@ @ @ O @
@ @ @ G @
@ O @ @)
Match the following :
District Taluka
(a) Nanded (i  Bhokar
(b) Jalna (i) Bhokardan
(¢) Buldhana (i} Umerkhed
(d) Yavatmal (iv) Sangrampur
Answer options :
@ ) () (@
O @ @ 0w
@ ) @) 6 @
@) () O @) ()
@ @ @) @v) (i)
53. HENIEM SIOME ¥ Wil formIm .
(1) TRt 9 SR (2) T § Wyl
(3) feiet = =nfem (4) TEETS § TR
The dolomite deposits are in districts of Maharashtra.
(1) Amravati and Akola (2) Nanded and Parbhani
(3) Hingoli and Washim (4) Yavatmal and Ratnagiri
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54. __ 31 "R gdter ydeT foeer o,

(1) W (2) i (3) fTaygd (4) TonfRt

_ _is the Hrst Tourism district in Maharashtra.

(1) Kolhapur (2) Nashik (3) Sindhudurg (4) Ratnagiri

55. e foegen Himn @rSele Sivhrn faeist See s ?
(2) oam, Wy, dtg, shimarg
(b) SwRION, YW, WH, TRE, ste, TR, TS
(©) IARTER, e, SEAETR, IR, e, JesTn

Taigt I
(1) e G (a) T TR (2) HE faum (b) T IR,
(3) wE faUE (o) FOH AR, @) = T eyl 9% .

To which of the following district boundaries are connected to Jalna district ?
(a) Buldhana, Parbhani, Beed, Aurangabad

(b) Buldhana, Washim, Parbhani, Nanded, Beed, Aurangabad, Jalgaon

(c) Aurangabad, Jalgaen, Usmanabad, Parbhani, Hingoli, Buldhana

Answer options :

(1) Only statement (a) is correct (2) Only statement (b) is correct
(3) Only statement (c) is correct (4) All the above statements are wrong
56. 1950-51 U 2013-14 W FLW TRV T[T WA SeIRAHE It AT 9y Wit
e,
(1) fer (2) e (3) ot (4) W™
Since 1950-51 to 2013-14 the share of agriculture sector in total gross domestic product
indicating _ trends.
(1) Stable (2) Declining (3) Increasing (4) Neutral
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57. WeE TeAKie RV faumme Tele e TREd qocis oY 3Te.
(a) it anfon Tt wiewan F&m
(b) = snfor @i gowit
(c) IS TN
(d) TREAEeH, o, T4
FhTUH SR faur S0t e ?

(1) ™K (a) (2)  (a) ST (b)

(3) T (d) @) (o) = (d)

Konkan division of Maharashtra has a sustainable comparative advantage in the following
sectors.

(@) Agriculture and Agro Processing Industries

(b) Forests and Mineral Wealth

(c) Textile Industry

(d) Fisheries, horticulture, tourism

Which of the above statement is/are true ?

(1) Only (a) (2) (a) and (b)
(3) Only (d) (4) (¢) and (d)

58, TENIE YA 2013 Feeh! Al o THK Afed R, TR Tote q9< 4! ' J=H
SMfSad T2’ WA AT Ht 3T .

(@) wEwd (b) wfem e (©) Fom d) ice
THH T T St .

(1) (a), (b) 37 (c) (2) e (a) ST (b)

(3) e (b) 3T (c) (4) e (d)

According the Government of Maharashtra 2013 Kelkar Committee Report Publication,
following communities from Maharashtra are enumerated as Primitive Tribal Groups.

(a) Katkaris (b) Madia Gonds (c¢) Kolams (d) Bhils
One of the following alternatives is correct.

(1) (a), (b) and (¢) (2) Only (a) and (b)

(3)  Only (b) and (c) (4) Only (d)
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EIEPIRE|
qret - 1 qret - 11
( TRt Frdvren ) ( 3iSTST UAHKIT AT (2018-19)
THS FAATAT TFH AT )
(a) TSHMEE G @ 121
(b) TEHS T Gi) 48.8
(c) T TEANY TFHU YFAFT IT (i) 2.2
(d) TS TET IRAT TS F AEYS T iv) 3.3
gt I
@ () (o (d)
1N @ @ @) ()
@ @@ @ @v) (@
(3 Gv) @) @@ @
(4) (i) (v) (D) (i)
Match the following :
List - I List - II

(Fiscal Indicators)

Fiscal Deficit
Revenue Deficit

Total Outstanding Liabilities

Answer options :

(@)
(b)
()
(d)

SN O
1) @
(2) (i)
(3) (@)
@) (@)

(b)
(1)
i)
(i)
(

iv)

g
(i)
()
i
0

Gross Tax Revenue as percentage of GDP

(@)
)
()
(1)

i

{Budget Estimates (2018-19)

as % of GDP)

()

(1)
(1)
(iv)

12.1

48.8
2.2

3.3
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60, WERE TTHRITAT 2016-17 AT AEEIAHE AN T WA Tegons, fafay megs
Hiare Heaan, fafay uege Sidi g areadr H5 Groroen! v 3R 2
(a) T IURA Yook, fash! HL, T T
(b) st T Infor Yooh, T IR Yosh, TATe
(c) Tasrt &, ey anfn il go=, T I Tk
(@) T snfin Uit Yo, TT IR Yook, T R
atete! o faum/ faum atET aRa ?
(1) W (b) (2) T (o) (3)  (c) s (d) (4) T (d)

According to the Maharashtra Government’s Budget Estimate for 2016-17, which of the
following is the correct sequence of the relative shares of revenue sources as per their
importance in the total revenue 7

(a) State Excise Dulties, Sales Tax, Other Taxes

(b) Tax and Dukies on Electricity, State Excise Duties, Tax on Vehicles
(c) Sales Tax, Stamps and Registration charges, State Excise Duties
(d) Stamps and Registration charges, State Excise Duties, Other Taxes
Which of the above statement/s is/are correct ?

(1) Only (b) (2)  Only (c) (3) (o) and (d) (4)  Only (d)

61. VHES YHAU (UGOHR g Toamey
(1) DFEEA T qEd
(2) U Afgw MG SHEEn fer wed
(3) rwEEA TR < R T
(@) ST FORK

According to the theory of demographic transition in the second stage there is
{1) rapid growth of population

(2) population remains more or less stable

(3) rate of population growth remains stable

(4) none of the above
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62. TOOYH TH T4, TEUE WAET TN 99 Hid 94 2015-16 96 AqET T fea@rst
T Tt @< (vaia) snftn gl Famet quedt dTR (feaam) Seife.

oSS FR faue It R ?
(1) T 262,53 fggg (2) T 242, 60 feog
(3) T 324, 44 feaw 4) T 370, 50 feag

One of the following alternatives shows : the cost of generating one day of employment
() and average employment per household (days) respectively for the year 2015-16 related
to the MGNREGA Scheme for the State of Maharashtra. .

Which one of the below statement is correct ?
(1) T 262, 53 days (2) T 242, 60 days
(3) T 324, 44 days (4) T 370, 50 days

63. % TEHRAE M TIAGIH! IV TFiAT  TTRT FAEIRT FRTT (FRL) STHS A0 ?

(@) ST W, 4 (b) FARH, PD
() T (d) Off=H w

WASTHT HIT IT IUET 378 ?

() W (a) (2 (@) (b) 3 ()
(3) T (b) (4) TRE (d)

Which of the following states adopted Fiscal Responsibility Legislation even before the
Central Government ?

(a) Uttar Pradesh, Punjab (b) Karnataka, Kerala
() Tamil Nadun (d) West Bengal
Which of the following answer is correct ?
(1) Only (a) (2) (@), (b) and (c)
(3) Only (b) (4) Only (d)
64. FRISHMEN Famn Toame (1981 1 2012) ST WF SWida JaeAaeE B,
(1) 3.5% (2) 59% (3) 57% 4) 4.2%

The average GDP growth rate during the later phases of planning 1981 to 2012 was

1) 3.5% ) 5.9% 3)  5.7% 4)  4.2%
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65. 'HEfER VT ST 9 WIele e R

(1) ST

(2) Temmdm

(3) Wt (et fHagia se
4) Fhets &

“Universal Basic Income’ has following conmponents :

(1}  universality

(2) unconditionality

(3) agency (respect for recipient’s choice)
(4) all of the above

66. 2004-05 Hiiiw WESTH SYFH=I HHANTOEES TaR TS wiaromged grdafs suss dem
(1) T e feeaay
(2) AP 9 THiE HEAUa He
(3) GRS TE STHAE W SEpdl JE
4) oUE 9E SuEEe

According to results of PSE’s in 2004-05, P5Es show much better results in new economic
environment due to.

(1) Grant greater autonomv

{2) Reduction of burcaucratic and political conirol
(3) Infuse Private Culture in PSE’s

(4)

All the above measures

67. I SmrmErem s frasard meetst Tiver 3fey s 7
(1) ¥l FORA §'
(2) TSR Heifned 7
(3)  TH TS IR AT wH
@) =ufead
Which of the following are the objectives of economic planning for the agricultural
sector 7
(1) increase agricultural production
(2) increase employwment opportunities
(3) reduce inequality ol incomes in rural area
(4} all the above
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68. SiEAr o
T - 1 e - 11
(BT ") (3fgEw)
(a) WA TR A () < Waie FE wodst e
(b) T g (i) o Tamm da=nd anfde SR Qo
(c) TEFHH I=He e (iti) TR S faegdtesTo
(d) I Tewwid APATH Ao (iv) H&9 I e anf faw
TGt 3=y

@ () @ (@
O O @ 3§ ()
(2) Gy (D) @) (@)
() ) @@ @ )
@ Gv) @) G @)

Match the following :

List-1 List - II
(Government Scheme) (Objective)
(@) Pradhan Mantri Mudra Yojana (f)  to provide LPG connections to BPL
households
(b) Saubhagya Scheme () to enhance financial health of
electricity distribution companies
(c) Pradhan Mantri Ujjwala Yojana (i) universal household electrification
(d) The Ujjawal Discom Assurance (iv) to develop and refinance micro
Yojana industrial activities

Answer options:

@ B () (d
M O @) G )
@ G @ @ @)
B3) Gv) ) @) )
) (W) GE) @6
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69. <A TEYE T T Tobell TWIMET WRG 2R, 3T/ F2 o7& 3T TS 3T,
(1) 2033 " (2) 50.33 (3) 40.33 (4) 33.33
If deprivation score is percent or greater, that household is multidimensionally
poor.
{1y 20.33 (2) 50.33 (3) 40.33 (4) 33.33
70. Hifes dvor BN I FramE €0 F SRR FET d9F G L AL CELICET
(1) wEEhE gd (2) U=l &S
(3) TR (4) ol wd

The monetary policy refers to a regulatory policy where the Central bank maintains its
control over the .

(1) Public expenditure . (2) Supply of money
(3) Tax revenue (4) Al the above

71, 3iqdsh IR fRRuTFd FETREE! AR AV TR Ereedst s fauT ae
e ? -
(A) SR R fRT g SAEmer 99l 6T W Wi fH g g s,
(B) <R AR FFT0 g Anfiqa I ot W aEfdd e @ et R .
g g fae |
(1) faurd (A) =0ftr (B) IR 6 ARS.
(2) faum (A) ¥ W (B) 39 3.
(3) faum (A) 3793 3T (B) €T M.
@ faur (A) 9 (B) =S FAHA RA.

Which of the following statements is correct according to the laws of reflections for drawing
ray diagrams of a concave mirror ?

(A) If theincident ray is parallel to the principal axis then the reflected ray passes through
"~ the focus.

(B) If the incident ray is passing through the focus then the reflected ray is parallel to
the principal axis.

Select the correct option :

(1) Statements {A) and (B) both are correct.
(2) Statement (A) is correct and (B) is wrong,
(3) Statement (A) is wrong and (B) is correct.
(4) Statements (A) and (B) both are wrong.
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72, X 0.3A T [SEQUNT 4180 VY ITESH] AT HSORA T MHiTerandt warfed H3t | frdt
Fe) I v dida ?

(1)

240 (2)

540

(3) 418

60

Find the heat generated in calories if a current of 0.3A is passed through a coil of resistance
4184} for one minute.

(1) 240 (2) 540 (3) 418 60
73. AF SE el

(a) L= T (@) forgauRER guwe A

(b) St W W) foeE

(c) T IS (i) TS fafeor

(d) TEFT B (v) foe@ ooy Ty
(v) o @

T I

@ ) (o (4

(1) Gy Gv) @ @)

@ b Gv) O @

@) i) &) @ 0

@ (@@ (v) Gv) (@)

Match the following : ,

(a) C.V. Raman i) Magnetism due to electric current

(by George Ohm (if) Electric Motor

(c) Hans Oersted (iii) Scattering of light

(d)y Michael Faraday (iv) Resistance in an electric circuit .
(v} Electric current

Answer options:

(1)
(2)
(3)
(4)

@ () (0 ()
() (v) (@) @
) vy @ ()
(g (v) @) ()

(if) (v) (v) (i)
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74, GAWYRO §F IOHEIARET ¥ I
1) CH,,» (2)  CiHpg
3) C.Hayo (4) SOSIF FIVRE TE
General formula of alkynes is .
(1) CnHZH +2 (2) CnHZH
(3) CHa_s (4) None of the above
75. Sredl ol
I II
(a) Twalege (i) CuCOjy Cu(OH),
(b) TR (i) ALOy xH0
(c) WO (itiy ZnCO,
(d) FFOUT (iv) FeyO,
(v) Fey,04
(vi) CuFeS,
(vii) NagAlF,
(viit) ZnS
TGt 3 ;
@ () (@ (4
1) @ () (i) (vii)
(@) (vi)) (v) (@  (viid)
@) (i) (v) () (i)
(4 (vid) (vi) (viii) (@)
Match the columns :
1 I1
(a) Crydlite (i) CuCO, Cu(OH),
{b) Magnetite (i) ALOy xH,O
{c) Malachite (iii) ZnCO,
(d) Sphalerite (iv) Fe,Oy
(v) Fe,O4
(viy CuFeS5,
(vii) NazAlF,
(viil) ZnS

Answer options :

@ (b () (d)
(1) (@ (v) (vi) (vil))
(2)  (vi) (iv) ()  (vii)
(3 (v (v) @ ()
) (vi)) (vi) (viii) ()
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76, IOWEAWWE I wEe
(1) TS, 4=EA @) Tee fe
3y wm <defaw (4) TEE
The Discoverer of electron is :
(1)  Sir J.]. Thomson (2) Gold Stein
(3) James Chadwick (4) Rutherford
77. g T fas.
TR T wEn AT RS 9 2
(a) UAA, UGA, UGC (b) UAG, CGA, AGC
() UGA, UAA, UAG (d)  CGA, UAA, UGA
it s
(1) (@) 3 (b) (2)  ® (a) (3) H (o) (4)  (d) 3T (c)
Select correct answer.
Peptide chain termination occurs with which codons ?
(a) UAA, UGA, UGC (b) UAG, CGA, AGC
(¢} UGA, UAA, UAG (d) CGA, UAA, UGA
Answer Options :
(1) (a) and (b) (2) Only (a) (3) Only (9 4) (d)and (o)
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78. WOGUH PR faET T 3 ?

(@) fn e g id 38 W I

(b) THEEier RAfTE AF YIS W AN S .

(€) STFIIEM ST 3T Fd L e TN,

(d) A faewTE § am: e s ol .

gt I
(1) () ®H (2) (b) 37T (d) FF
@) f(a) ' (4)  (a) 3T (¢) T

Which of the statements given below is/are correct ?

{a) Taenia solium is called as Hookworm.

(b) Fasciola hepatica;is commonly known as liver fluke.

(c) Ancylostoma duodenale is also called as Tapeworm.

{d) Nereis chilkaensis is commonly called as Ragworm.
Answer Options :

(1) {c) Only (2) (b) and (d) Only
(3 (a) Only (4) (a) and (¢) Only

79. A9 Ul AL M@

(1) TR SR (2) T e

(3) ITEAfeHTT (4) sfoamd =
Brunner’s gland occurs in :

(1) Submucosa of ducdenum (2) Submucosa of stomach
(3) Mucosa of cesophagus (4) Mucosa of ileum
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80. TAEISA STIHIOTHE UG SO TgH Hewr= e T wredr ?

(a)  TORIAIET T (b) TN SRR

(c)  TOREA HR (d) TR feree

Fhedw FR faum/fau alEw e ?

(1) (1) B (2) (b)

(3) (a), (b) 3 (c) 1 4 (@, (b) (o) (d)

Which chromosomal characters play important role in classification of plants ?

{a) Number of chromosomes (b} Morphology of chromosomes

(¢) Size of chromosomes (d) Aberrations in chromosomes

Which of the given above staternent/s is/are correct ?
(1) (a)only (2)  (b) only
@) (@), (b) and (¢} only 4 (a), () {0), (d)

§1. WHAAH! FH0E T TML) Hergdt T, T i srea g i Twaw.
(1) SRR (2) TEwE (3) TSl (4) SguaErst

Which of the following plant groups has vascular system, produces spores, but does not
has seed ? ’

{1) Bryophyta (2) Pteridophyta (3) Gymnosperms (4) Angiosperms

§2. 'O sore afE Qide)’ AEM 3leEel IO g TITY ETESyET STl HS Stfaw aaea]

FRINYT 3T 2

(1) BIEIIRT 375e~ (2) TELIT THHE

(3)  STesgm FSter @) FoIEER

The plant disease “Late Blight of Potato” is caused by which of the following organism ?
(1)  Phytophthora infestans (2)  Pythium Species

(3) Albugo candida (4)  Colletotrichum
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83. W UGN, I TOGtE! SV 9 Yo d T TR e ?

1) ~Refeadire dad d, ddee 998 I 9 0o J9d 26

@) dddEe wad I, veENEEe 9adt % 9 uUoiee §ad A%

@) TEidEe 969 9, TeEeHhe Wag 2% 9 Tfuddhe wadt O

@) e Fad 2, Taddiae Hadt 3% 9 FgghaE 9adt O

In Mammals, structurally the sense organs take which one of the following three basic
forms ?

(1) Neuroepithelial receptors, Epithelial receptors and Neuronal receptors
{2) Epithelial receptors, Endothelial receptors and Neurological receptors
(3) Mesothelial receptors, Endothelial receptors and Epithelial receptors

(4) Neuronal receptors, Epithelial receptors and Cutaneous receptors

84. Toxees fosiaa S aufor Srefmo TRURT O AHaIY Y TS S
(1) < HhA 2) =gt () fofeds g (@) oot 9o
The infections which usually develop slowly and are long-lasting are known as
infections.
(1) chronic (2) acute (3} systemic (4) latency

85. T & ¥ig AHE WA afyer we el MG A

(1) Hifasn (FEME Savia vn) (2) &=

(3) SR 4) AN 9gTl
Sensory nerve cells called Rods and Cones are found in

(1) Cochlea (2) Dermis

(3) Epidermis (4) Retina of the eye
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wwﬁawmmyaz%ﬁﬁmam

(s 6 B A

649 (2) 998 (3) 89 4) 946

Fmd the value of Y and Z respectively after identifying the rule in number arrangement.

abNNCENNCENGE
NIDARNGE B,

1y 6 and 9 (2) 9and8 8 and 9 (4) 9and 6

87. UHHHI RI I90 X T Y ¥ T TR TSN FER e, A urEs s 18 oo miwd

1AL
T X T SETES A B Y {HA SeeiES IR

X A1 Tl e faeg eed U IR Wil o0 Tee e, guh W fasg Taos! g gt
1 Traeit ome. e Jeitet U& fias 9 gaY S {raeks TR,

Y T uE] e T TR faeg g Siél (@ Trae ome. geen e faeg 7w it
TIF T gET fEa IR oo WeR faeg 7o el el 7 Tied 3T,

SRX W Te 8 At Y 2 @ e e w5 ofe, X 3 fras 7 Y 9 dufed g
TR 3780 T X YA el JorEmR Avran Y s&r=n gue=n 31 e

(1) fafe=aan s (2) UH FHA TG e

(3) T I (@) Ffeea w00yt T

You are having 2 cubes X and Y in front of you that are placed adjacent to each other.
Study the jnformation about these cubes that is given below :

Cube X is on your left side and cube Y is on your right side.

One of the opposite faces pair of cube X is painted red. Another pair of opposite faces is
painted blue and one of the remaining faces is painted yellow and other one is violate.

Only one pair of opposite faces of cube Y is painted blue. Another pair of opposite faces
has brown and green colour while remaining opposite pair has black and white colour.

If red face of cube X and blue face of Y are touching table, yellow of X and brown of Y are
facing you; then select the colour of face of cube Y that is facing blue side of cube X.

(1) Definitely black (2) Either black or white
(3) Only white (4) Cannot be determined
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88. TIOHGYd WUl WO YounT fedt s1Rd. e S S 7 R, 38, @ 2 9 a9t
A= ST I ofEl, S o 9 A= Sl SSSah STE. YU st ik I
T YU AT SR YR et T, I aiERad) T I U0 ol syieung

g e,
(1) e T Mg 2) 63
(3) 56 4) 42

Measurements of lizard like animal are as follows. Its head is 7 cm long. Its body length
between the head and the tail is equal to the head plus tail. The tail length is equal to the
head plus one half of the body length between the head and the tail. Select the option that
indicates total length of the lizard.

(1) Information is insufficient (2) 63

(3) 56 (4) 42

89. fqoa Wem wifohdio gohid 7 e,
6, 24, 72, 240, 726
1) 24 (2) 72 3) 240 @) 72
Identify the wrong term, in the given number series :
6,24, 72, 240, 726

(1) 24 2 72 (3) 240 @) 726

HoAl HIHTEISI W0 /SPACE FOR ROUGH WORK PT.O


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal297

Hi1l 42 A

90. SIS AIfEd! Hressigd® AraT enfu foamden 99 S O

&0, wdr, from, $oen, Fm, wemm snfn geer 1 O SEkan= Yoy e 13 Vil
TIOFGT oA JE A A, B, C, D, E, F & G T 91 FTaieedl ade! s wom frag
S, el =1 1 G T8 2THE 3700 3 TR 11 [V 3 Fokert §arad e A 918t Saa.
TR gorEd 919 1113 Saer 991 9 C fhan D 98! Rl e = qerdd weel B 9El g v
e 1 fohan [T 7 Haeht 7EL. fRatarst qorad 9o ViF Wi E HEt S, 99 VIR W F a8
ST Hael. YasTE] Horad 996 | 3 Haet 90 We C 92t A6 999 11 3 e Jored Yaet

.
T3 V A STt Jordd Hael 2
(1) & (2) e (3) =AHEM (4) Hemm

Study the following information carefully and answer thie question asked :

Seven candidates Hari, Samir, Nilesh, Shailaja, Nikita, Laxman and Sujata are interviewed
for selection as teaclier by difterent panels I te VII for ditferent school A, B, C, D, E, F and
G not necessarily in the same order of schools and panels. Nilesh is interviewed by panel
IV for school A. Samir is interviewed by panel III but not for school C or D. Hari is
interviewed for school B, but not by panel I or 1. Nikita is interviewed by panel VI for
School E. Panel VII conducts the interview for scheol B, Shailaja is interviewed by panel
I but not for school C. Panel [I does not interviewed Laxman.

Who was interviewed by Panel V ?

(1) Hari (2)  Shailaja (3) Laxman (4) Sujata

91, AT VEUSHIA B I SR VRIEE AUITE WEl AN STCH Jea, qidre e 9w P, Q @ R aaifn
e o=t 1291 1, 2 9 2 @191 Fe ST, A9 SR Ao Q A | Sua. TH Fai=4] T
P, 193 1 uptiaR TR 2. S AT 1 92 el @ R SNTATT 53 @l RO T A 3 A TA
ST R TS T AT 4 Aedeide] stos sReal/ @ A e

(1) T Q (2) ®HP (3) FE2 (4) R0 2 G

\

There are six routes for reaching from town A to hill town B. Three of these are indicated
bv P, Q and R and other three are indicated by 1, 2, and 3. Route Q is clesed during
slormy weather. Roules P, 1 and 3 are affected by flooding of one river. If route 1 is
Jased, route R gets closed automatically as both are bifurcations of the single route from
A after some distance. Select the route/s which is/are available for transport when
weather is stormy and causes flooding of the rivers that affect the routes.

(1) Only Q (2) OnlyD (3) Oniv 2 {4) R and 2 both
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92,

93,

13 | H11

ST p A0 g @ WERY 20 ¥R, q Ay # W 25 AR, p, q g y N WEL
23 3T, T p anfor y o wowdl Tt ot ?
1) 24 2 19 (3) 29 4) 25

If the average of p and q is 20, the average of q and y is 25, the average of f), qandyis
23, then what is the average ol pand y ?

(1) 24 () 19 3) 29 (4) 25
3 Famer= Sl v T AEe ?
7 1 2
54 25 3@4
1 6 4
(1) 45 (2) 48 (3) 46 4) 47

Which number will replace the question mark ?

7 1 2
-
1 6 4

(1) 45 (2) 48 (3) 46 4) 47

94.

Tfgen & demimdd | 99y e, 19 gay fawrn anfr Sten e 3R, gyeieds fameren fowmmh
a4 1qtg free,

$6:29::95: 2
1 30 @ 32 (3) 34 @ 36

The relation between third and fourth number is same as it is in first two numbers. Select
correct option in place of question mark.

86:29::98: 7
(1) 30 2y 32 3) 34 (4) 36
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95, HiEdd FTH TH F@ed Teomren Efiy am seemrn s fR e som fafay 83 qreaa.
TS, BAge-TsRrd, FAmm-w=rs, sma-fed), fafos Taee amen- 3o
=1 wifgdter s gy fesd fae,

-

\

frepd

(a) HTE! SR =T |To1 s 907 Irdld AR shoedn 9Tegl I UehEl sekit sitend e,

(b) =PIE! S e g F fEdt Srodn.

(c) I TUS! SISO SFKil T o o] e Hel 6 SEie Sod.

(d) A FE TSt A =7 S AT O ST IEA U Hle] R R HUS o

T,
i I
(1) (a) 2@ THeE el (2) (a) =Tedl W
(3)  {c) T wohel (4) ®H(b) 9 (d)

Accompanying image shows different areas that represent specific language speakers
residing in one colony. Arrow - Marathi, Circle - Gujarati, Triangle - Kannada
Rectangle - Hindi, Irregular - English. Select false conclusion/s based on this information.

[}

Conclusions :

(a) Some persons do speak four languages but no ane speaks all the five languages
mentioned in the list.

(by Some persons speak Kannada and Hindi only.

(c) Though some Marathi speaking persons do speak Gujarati but some of these speak
Hindi also.

(d) There are persons who speak Marathi and other two languages but some persons
speak Marathi and Hindi only.

Answer options :

(1) None except (a) (2)  All other than (a)

(3} None other than (c) (4) Only (b) and (d)
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96. WS TEMEY ;: 91 Far=n S dae foem g T fafe @9y ame, a9 dey swdtesio
EF:15::KL:_?
(1) 23 (2) 36 (3) 46 (4) 66

There is some relationship between two terms at the left of : : and same relationship holds
between two terms to the right. Find out the correct alternative, in place of question
mark.

EF:15::KL: 7
1 23 (2) 36 (3) 46 4) 66

97. fgcar 19 TgimLd W HaY MR, A= Heay w1 @ S 95 2. 7o faerean St SivE S
¥ ?

122 :176::290: _2_.
(1) 364 (2) 362 3) 323 4) 324

The relation between third and fourth term is as it is in first two terms. What Number
should replace the question mark ?

122:170::290: 7
(1) 364 (2) 362 (3) 323 4) 324

98. U Hithfash NG VIDEO W18t VWREL 81 Hehd 311® 3701 CHAIR |18t RZSXI 81 Wahd 3TR.
BOARD #1 ¥I%¢ ™19 Qishide e 91 foges ?

(1) YLZIW (2) 1ZLYW
(3) WIZLY @) (1), (2), (3) A=A KRG TG

In a certain code language, if VIDEO is coded as VWREL and CHAIR is coded as RZSXI
then how will BOARD be coded in that code language 7

(1) YLZIW @) IZLYW

(3) WIZLY (4) None of (1), (2), (3)
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99, wte faumler faar =1
(a) FHE AR 12 9 9. 4 TG FT@ER, TeaR 07 Taar 41 foantt =1 ITosy s
(b) Tl wem @ T & WHER, ear, AR o et 1. 10 @ 2 IR o s,

(¢) Tafd WSt FE S A W, 9 9 g 12 TN WER, gUaR A TEEr = feaet anfor
3.2 9. 4 A1 Jed YA, WFER anfor e o faast = Syos .

fa-gl afeult wioren foaeh o fdt arsiar U o e/am ?
(1) w-g.lzm.arﬁmﬂg.um
(2) TEAR - g 1290 ° ATt g, 2 91
(3) TEER - g, 27 F Mot g, 24

(4) TEAR - g 279 9 fagrt g, 1240
Consider the following statements :

(a) Xunda is available at home during 12 noon to 4 pm on Tuesday, Thursday and
Sunday.

(b) Her younger sister Naina is available at home on Monday, Thursday, Friday and
Sunday during 10 am to 2 pm.

(c) The eldest sister Jyoti is available at home during 9 am to 12 noon on Monday,
Wednesday and Thursday and 2 pm to 4 pm on Friday, Saturday and Sunday.

On which day and at what time, all the three sisters are available at home ?
(1) Thursday - 12 noon and Sunday - 12 noon

(2) Thursday - 12 noon and Sunday - 2 pm

(3) Thursday - 2 pm and Sunday - 2 pm

(4) Thursday - 2 pm and Sunday - 12 noon
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100, 97 fuga TN YgTd Al Hifedr S
A, B,C, D, E 31f0T F ¥ 9581 9 31 e 7 7% 6eW %, fag, o, o, & 9 73
izt fafim weren fadhy wwdt St et IoT wae SR of I fasiy wHd | ARl C, ST E
A AR, foen 379 wala Ra AESa. B, S D 1 foranfed gom o, o faeg o wda s
F¥ A A0ES 3R, <& oWl Tet= Silew <u& Yae e 31101 F 9 §3 afasy e A &
o faum fael.
faum :
(a) D T fa¥m v @<t anfor & A =91 Tom T,
(b) E# ffraaed samn w9 959 R,
(€) C3 Yo eus el 3.

qarst I ;
(1) ()@= wd @) (2) SO THA E
(3) (@3 (@) @) (a)F (b) R

Study following information about the joint family comprised of three generations.

A, B,C, D, E and F are members with two married couples and each member prefers
distinct fruit amongst banana, chiku, pineapple, figs, guava and orange. None of the
male member prefers either figs or guava. C, who is daughter in law of E, enjoys pineapple
most. B, who is unmarried son of D, prefers chiku. F is a grandchild of A, adopted by 24
generation couple and F does not like orange. Person A prefers figs and has a spouse who
prefers banana. Select statements from following set which are not true with respect to
this information.

- Statements :
(a) D prefers orange and is not a son of A,
(b) E is definitely a male member of the family.
(c) C has adopted a girl.
Answer options :

(1)  All but (a) (2) None but (a)
(3) Both (a) and (c} (4) Both (a) and (b)
-00o0-
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AT — (795 1 567 TR....)

@ Tyl fafen Soea fafire srfe F=1 =W (% 9%) F19. gegfiaseafaied sToferar @t
TR FRE FH FM FEAE I P FOAre] OH o TR, 378 A0S IRe 4 @R WIS
WEAR I o ' wlgimed oman TR Waey e siffm-82 ' aite aeegE FE
FIogd LS 3 T FN FHS Uk GHreAl SRETErE A/ fha T2 T TeiR WhAe e fem
A e

©) TR WTIERFETS o i ¥ Az dwRm SHSEe 8 TRfeE T atat TOATEREET
BT I YW MR, WA YT STETe STyl SHEad Aedr SThaher W- 1
wagHTRE 7 Ryt Wt S0 sTAvaes Sk

T W

W . 201, WA 9O AR SRS S0 HE: a4 He 2
(1) @ gaER WEad (2) FvaTER TR
@ o T T @)  TiEE e

& TN A 3 (3) T TuEeT T S AR, Wie W TEE W (3)” 9 ag
GIRATIHIG T 3. 201 HAS ST-FHi% Q) ¥ 3w T SEifhe e arefas siavaw
3.

5. D Q @ @

S TEEA W TYEH0ie Ja® eel gAEl Sa-Hui 8 griel Waaiel e
FAwiFRal® ™ 1 JEhHisRET Haftd 9de YU9Y DHifea HET qEde. greRiar
Rt THTT YIS S SR arad, Ufae a7 yesy Us anue 14,
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